EARAROBEEIERT — 2 N— IBISH —F

20175F4A8H (+) 1HES1H

BLY v %3 #B7 % Ust] Bk

EZS

= ‘

[REBE] — | & (&) 17000 B

[A~&£] 17 5,000,000  ~ 23 :2,000,000H 37 :1,300,000

/47 1750,000 F 5 7& 500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N g 3 | AlxK 1:47.9 4-4-2-2 | 38.7| 87.5 | 2 498 | EEZEM# (ER)
AIPERE SO R it odd Con | 0B) AL 2%
RWN—5—2y T BTIVAITr (B) HBEaA-KL—y3>aE77
2 7|71 7RI 42 3 %?2*% 1:(458).7 11-11-8-6 | 37.9 | 80.7 | 10 (ztff) gfﬂi‘éﬂ:jff)
XD THANAN BehVTTIoH R J—HrTp—L
— it 3 | FIRER 1:48.8 13-13-13-10{ 37.3 | 79.8 | 7 486 | BIEHE (E@)
3011 |3ARETYVT 54.0 (3/4) () | B EvILyET7—L
STANWNTTFY— BT —LAA EvJLy RT7—L4
ExR # 3 | BERA— :48.8 1-1-1-1 | 39.7| 80.0 | 4 | 450 |AREEL (i)
4 4 L 54.0 (NF) (+6) PR
R:7UF—v BRXFUIN £l I
7 e # 3 | NERE 1:49.5 5-5-5-5 |39.5| 74.1 | 12 422 | EDEE (EH)
5Pl g | 7H—FE=F 54.0 @ +10) () % v AN S2T 4
gy —307> B:N-L—~AyX BEH%S
o 4t 3 | FR— 1:49.7 5-5-6-6 | 39.4| 72.4 | 9 456 | FRBEE ()
6 5| ExXxH—0QO a5 0 ) 4 | B G1L—vy
LA T*rTv— B:TS5V15—b HET77—L
I ft 3 | BHERLT 1:49.7 2-2-3-3 [39.9| 72.7 | 3 440 | BAEE (ER)
7|59 7Y >EX3ITY 4510 (75%) o | ZTATL=zE-x )
LI ATA—H— BTV eX%x—Ya ppaisla % e
2ef S ft 3 | BBEA 1:49.9 8-9-7-8 [39.3| 70.6 | 6 476 | BIEENE (ERH)
8 3 NS )Y 54.0 ) () | AATEA
LA Lk—L BNL—4222 =i fa—
= s B3 | REER 1:50.0 2-2-3-3 | 40.3| 70.5 | 1 448 | KEEIL (EH)
9N 10 47X MO A51.0 (1/2) (-2) KERE
R:TFyraAK B:IXK +tH BEF
it 3 | ALEEN 1:50.1 12-12-8-8 | 39.3 | 69.0 | 8 456 | REFE— ()
10/5/8| 7E—L . 54.0° (7€) (+4) | ABTE—
R:vavr>h>7 B:54TU—422 HET77—L
i # 3 | AEFH 1:51.0 10-9-11-12 | 40.0 | 62.1 | 13 408 | £HEE (EH)
1118l15| N T A7 A51.0 (5) (1g) | EBERLLE
R bE—XT—F— B:ILN—KU—1L TR
7 B3 | AEDHE 1:51.3 7-7-11-12 | 40.4 | 60.2 | 5 442 | M EEF (i)
12 2 TJA—2XXZAIL A52.0 (1 3/4) ) (H(Satgﬁ CTY—A—Z 1A
X THANAIN BNAZIVZZAIV ESazie]
I T # 3 | HEX 1:51.5 8-7-8-11 | 40.7 | 58.9 | 14 452 | EBREI (ZEH)
13 11| /M7 XLX £52.0 (1 1/4) (+g) | EBHE
R:IUFLFRY BFE2F«TUII ZRANT 7 — L
> T 3 | GfaiE 1:52.5 14-14-14-14| 40.9 | 51.4 | 11 428 | BRAFIA (i)
14| 7|13 7+ &L % 54.0 ® (<) ) S —ZELT
LTANWNTTFY— B:T7704 HRAEHE -2z
2 T it 3 | MEAA 1:54.3 15-15-15-15| 41.6 | 38.9 | 15 | 472 |EREI#EE (R®)
15/ 7{12| SVX A>T L—> 54.0 (51%) o) |EERE
RHL AL =y B —) v I Fa— ST UL ¢
@ 21 L
£ 51.0-38.8
NA>ZA L | 7.0-11.6-12.4-13.1-12.8-12.2-12.7-12.7-13.4
® 1—F—@EBIERL
12—+— (¥4,9,10)14(6,5)2(3,11)15,7,8-1,13-12
23— — (x4,9,10)14(6,5) (2,11) (3,15)7,8-1-13-12
Ja=77= (x4,14)-(9,10)6,5,3(7,11,8) (2,15)-1,13=12
43—+ — (%4,14)=(9,10)6(7,5) (3,8)1,11(2,15)=13=12
[ N5
= 14 560M 714K 7-14 2,550/ e E 4-8 5,060 JEE 1-7-14 49,660/
8 B 14 310H 1-14 2,250 B = 7-14 8,390 JEH 14-7-1 253,330
7 720M 1-7 5,460 B H 14-7 14,5100
1 5009

ABICOVWTRDTEEERROODE. TR LIV,




